
Latitude

0.00 0.04 0.08 0.12

r2= 0.25
p= <0.01

r2= 0.72
p= <0.01

10 15 20 25

r2= 0.59
p= <0.01

r2= 0.49
p= <0.01

400 600 800 1200

r2= 0.15
p= <0.01

−2
0

20
60

r2= 0.15
p= <0.01

0.
00

0.
06

0.
12

Pore Density r2= 0.35
p= <0.01

r2= 0.32
p= <0.01

r2= 0.22
p= <0.01

r2= 0.15
p= <0.01

r2= 0.14
p= <0.01

SST r2= 0.72
p= <0.01

r2= 0.76
p= <0.01

r2= 0.27
p= <0.01

10
15

20
25

r2= 0.26
p= <0.01

10
20 r2= 0.24

p= <0.01
r2= 0.20
p= <0.01

r2= 0.19
p= <0.01

r2= 0.21
p= <0.01

3.
5

4.
5

5.
5

6.
5

r2= 0.21
p= <0.01

40
0

80
0

12
00

Ellipse Volume
(μm1/3)

r2= 0.98
p= <0.01

−20 0 20 40 60 10 15 20 25 3.5 4.5 5.5 6.5 1000 1500 2000 2500

10
00

20
00Elllipse 

Surface Area
(μm1/2)

(ºC)

Habitat 
Temperature

(ºC)

Habitat Oxygen
(mL/L)

Supplementary Figure 3c


